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% fig0306a.sgr

%> plot(seq(-3,3,0.01),dnorm(seq(-3,3,0.01),0,1),xlab="x",ylab=""",

%+ main=" ", type="1")

%> arrows(gnorm(0.05,0,1),dnorm(gqnorm(0.05,0,1),0,1),gnorm(0.05,0,1),0)
%> arrows(gnorm(0.95,0,1),dnorm(gqnorm(0.95,0,1),0,1),gnorm(0.95,0,1),0)
%> abline(h=0)

work01.txt
glm

write.table(Orange,"d:/tmp/lec/lec03/taisho/orange.dat™)

Tree age circumference
11 118 30
21 484 58
31 664 87

orange.dat <- read.table(*d:/tmp/lec/lec03/taisho/orange.dat™)

orange.dat[,1] <- as.factor(orange.dat[,1])
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